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/'/ Section A — Quick Maths

You have 10 minutes to complete this section
There are 30 questions in this section i

o5¢ MEASUICS the height in cm of a plant against the ruler to the
I . ghe marks the height with an X. How tall is the plant?

e T
24 >
St 26 cm

) Kyliehasa mirror which is shaped like a regular hexagon,
45 shown to the right. What is the size of angle y?

A 180° B 60° e 1002 ...902 | A 753+

Jeffthinks of 2 number which can be expressed as 6 x 2 + 12.
Which of the following expressions gives the same answer?

A 48-8x3 B 119< 2 C 923:X¥ D 24-=23 E 2+4x4

4 James saves the following notes and coins from his pocket money. £5
2

How much has he saved altogether?
1 e

X . ;

Wh.mh of the following shapes could only At least two | All angles
io in the region labelled X? angles equal | different

At least two

I :
B klilfmbus D scalene triangle Siisa eaual
3 E isosceles triangle Al sides 5
different lengths

C regular pentagon

gbag of fruit costs 99p.
OWmuch will 9 bags of fruit cost? £OODD
What i
i ;s 45.952 rounded to the nearest tenth?
BENERG0 C 4595 D 4596 E 4510

8. Chri
$ hag ; .
Wi a dentist appointment at ten to five in the afternoon. m@

at is th . ! :
€ time of his appointment on the 24-hour clock? :
Carry on to the next question ==
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48 . ke into 20 equal slices: She gives out 16 slices to her friengs
9. Bethany cuts her birthday ¢8£7 llaethany have left?
What fraction of the cake does 1 5
I c % D % s
AL B /4
: 7 pages.
10. Anna has a book with 189 OO@D
Round the number of pages to the nearest tefl
; 0 for every job and £25 for every hour that he works.
_ An engineer charges a customer £5 ; ;
s Whick;g formula could you use to find how much he charges in pounds, C, for  hours of work?
A C=50+25k B C=50+25h @GR =50h5125 D C=25+50h E
12. 24 children want to go camping. 5 children can sleep in each tent. DD
How many tents do they need?
13. What is the missing number in this equation?
Mo et L
14. The graph to the right shows how many of a particular board
game have been sold each month over a 6 month period. o8
Jan Feb Mar Apr May June c—?-)
Ant Alliance 50 25 10 5 20 45 @
Bee Bash 45 40 35 30 20 20 =
Croc Chase 200 WMk o A Z
Dodo Detective | 30 35 30 35 30 30 A
Emu Escape 15 20 25 30 40 40 Jan Feb Mar Apr May Ju
Month
Using the information in the table, which of the games could the graph correspond to?
A Ant Alliance C Croc Chase E Emu Escape
B Bee Bash D Dodo Detective
152 ;fgishpie chart shows the colours of the sun hats worn by
children. Find the number of children wearing yellow hats.
e - [
16. Johnny has a ten pound note. H
. He spends £8.93.
How much does he have left? ’ d £DDDD
17. Year 5 and Year 6 it i r"/ﬂ'
The number of are split into red, yeflow and blue teams, Team | Year 5[ Year® =]
er of points won by each t ; 50 |
table. How many points did the b} eam are shown in the Red 27 _,,5,, 5|
C blue team win in tota]? Yoliow | 32 | 2 -8 ,_
Blue 30_1—8
Total 90 105 | -
18.

Assessment Test 1 Carry on to the next qU

A packet of 6 Milky Bea
IS normally ¢
offer at 10% off. What is the cost o}tl~ ngtlsn‘;()@ bThe‘}; ¢ i P
ear? :

esﬁoﬂ






50
: i different dessert each weekday. B
sells a different pie and a _\L\Pie _
28. gaslilzﬁly Jikes meat pies. He hates apple fiesserts. On what :  Monday | @E%sse
graction of the days will he like both the p1€ and dessert on offer” W‘fw mushrogr ] a'emac:
rac < I E ¥ Wednesday| chicyg, T 208 i
A 2/5 B 3/5 Ch D =72 . M Cheese aPple Pig :
|_Friday [ o
: Tot Cake
29, On Tuesday the temperature FRILEC, 18y Wednesday it has dropped ‘
) o kThe temperature drops by twice as much from 2 DGO
Wednesday to Thursday. What is the temperature on Thursday? G
30. Tara uses this net to make a 3D shape. A | .
Which corner will touch the corner marked X Blﬁ |
when the net is folded? £
D . Cmun o0

A B C

Section B — Long Maths

You have 25 minutes to complete this section.
There are 30 questions in this section.

Joel is shopping for fruit at a greengrocers.

1. Joel weighs a basket containing 7 peaches, as
shown on the right. Each peach weighs 200 g.
How many kilograms does the basket weigh?

Joel exchanges three of the peaches for three apples.
Each apple weighs % the weight of one peach.
What is the new weight of the basket and its contents?

Roger and Andy take part in a long jump competition. They have
They record all their jumps in metres in the table below.

o). =

six jumps each.

1 2 3 4 5 6 |
Roger 5.30 4.75 4.75 5.10 5.05 4.70
Andy 5.25 5.00 4.90 4,95 4.80 5.10
3. What is the difference between Andy’s l ’
Jongest jump and his shortest jump? Ej -
4.  Which distance did Roger jump most often? l )[ Jg s
5. Whatis Andy’s mean distance? l H \:] e
6. How much further was Roger’s longest jump than Andy’s? l l D iy
TaevA i :
; ;i;m 1;}:21:13 Sof a nqmber. He multiplies it by 8, adds 6 and then divides O
- up with 131. What was the number he started with? DO '
8.

/I; taplis drippiqg water at a rate of 20 ml per minute
ow long will it take for 1 litre of water to drip fron; the tap?
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32
ds 60% of it
da has some pocket money. She spen: ' D
it fﬁ? left with £6.00. How much money did she start off with? % ' D

71. Kate starts out on a 135 km journey at 8:50 am. She travels

on average at 60 km per hour. What time does she arrive at DD O
her destination? Write your answer using the 24-hour clock. 3 D

A number is written on each face of the triangular-based pyramid shown on the right,

22, :
The mean of the numbers is 4. Which of these could be the two hidden numbers?

[\

A 2and4 B land2 C 2and 5 D land>5 E 1and4

23. Toby has 4.4 litres of lemonade, 900 millilitres of lime juice and

2.8 litres of orange juice. He mixes them together in a bucket. DD DD 3
How many litres of liquid is in the bucket? : litres

24. Juliet is converting her exam results into percentages from fractions. D
She scored 17/2¢) in her English test. What is this as a percentage? %

25. Use the formula below to find the size of angle m if n = 46°. @
m=(180—n)=2 : ﬂ‘
m=l [ ] ] @

The playground at Jay’s school is made up of six identical right-angled triangles.

26. What is the area of the playground? DD m? SN 4T
m

e

<—b6m—

27. How many lines of symmetry does the playground have? DD

2m L2m,
28. Jay’s school are building this climbing frame
on the playground. The frame is built of a
wooden cube on top of a cuboid.
What is the total volume of the frame? DDDO m?®
-
5.5m

B 2 A ;
obby’s school -have been collecting 2p coins for charity. They count the coins into £1 piles:
29. goblt:y d.emde.s to check the £1 piles are correct by weighing them D
ach coin weighs 7.5 g. How many grams should each pile weigh‘? DDO g

30. Bobby’s school aim to raise £200. If th

e e _ ey achieve their target ‘
much will it weigh in total, in kg, if all money raised is iifg; ;231‘29 DD ¢ ;
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